FHEAAFMANE (FH4F10AHD)

AR
(H—EXBHINF445R, REBEREMHE48 A, FMNF (FiE3685H)
X —ERMARRICE>TEMMEEHYET DO TEHEBICENELET, 2% & 18
3 N A BERS FHESHE +
[ TE [ E | EXE[EA LR EANE | maxEms | senasuns | ~.-wnm| RS BE| R anE|3HpdI=Y| = b BE |eweaex[npzase[3B&H-Y| 1HHI=Y | SHHZY
A 1 1154 460 63 34 13 10.14 | 1,749 5,247 7,499 22,497
2 & 3,350 1,900 500 5,750 | 17,250
= 2 1442 460 74 40 15 10.14 | 2,060 6,180 7,810 23,430
B 1 1154 460 63 34 13 10.14 | 1,749 5,247 6,949 20,847
2 & 2,800 1,900 500 5,200 | 15,600
= 2 1442 460 74 40 15 10.14 | 2,060 6,180 7,260 21,780
% 1 1220 460 66 35 13 10.14 | 1,820 5,460 4,870 14,610
2 73 650 1,900 500 3,050 9,150
= 2 1536 460 78 42 16 10.14 | 2,162 6,486 5,212 15,636
= 1 1242 460 66 36 14 10.14 | 1,844 5,532 6,644 19,932
3 Y 2,400 1,900 500 4,800 | 14,400
L 2 1564 460 79 43 16 1014 | 2,193 6,579 6,993 20,979
AR
(—ERREME66 A . WEBEREME 725, EDME (FiE5525)
MY —ERFARRICE>TEMMEEHYET D TEHEBICENELET,
RE)=E:E]
Y RIZER S HEHMS MRESHE(RIER+EE)
& |22 |[ZXE|ER S| ERNE | vagems| senssmns [ e pwrsum| nmsansa[3AHEY] =H BE [emssssx[nmeana[3Bh=Y] 1BHY [ SBHY
A 1 1731 690 94 51 19 10.14 | 2,622 7,866 8,372 25,116
2 & 3,350 1,900 500 5,750 | 17,250
= 2 2163 690 111 60 23 10.14 | 3,090 9,270 8,840 26,520
B 1 1731 690 94 51 19 10.14 | 2,622 7,866 7,822 23,466
2 & 2,800 1,900 500 5,200 | 15,600
= 2 2163 690 111 60 23 10.14 | 3,090 9,270 8,290 24,870
E4 1 1830 690 98 53 20 10.14 | 2,729 8,187 5,779 17,337
2 73 650 1,900 500 3,050 9,150
= 2 2304 690 117 63 24 10.14 | 3,243 9,729 6,293 18,879
= 1 1863 690 100 54 20 10.14 | 2,766 8,298 7,566 22,698
3 > 2,400 1,900 500 4,800 | 14,400
L 2 2346 690 118 64 24 10.14 | 3,288 9,864 8,088 24,264




